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O EXEXNO2 XAABH 2HS 2
Hdi=H
O 2U -9 22J1 SX L JIEAIE He
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=1 48 ENSXINE, ISR, AXNSK, BAHS2ATL
o 3% 421,526,627, 727,82 1, IS 1
()
(235 42 1,52 6, 62 6, 72 9, 83 |
Ol &t 2
(&9l : worg %)
= Ol & o ol B oo ek
2| 2AH| =28
2 88,431| 100.00 % 78,923| 100.00 % 9,507 12.05%
oM A O 45,929| 51.94 % 35,290 | 44.71 % 10,638|  30.15%
N2 oA Y 1,005 1.24 % 1,008 1.39 % A3 A0.26%
ol 2 2 9 975 1.10 % 975 1.24 % 0 0.00%
Il 2 7 120 0.14 % 123]  0.16 % A3 A2.33%
W e = = 41,407| 46.82 % 42,535| 53.89 % A1,128|  A2.65%
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